20148 & 204 LESIH WB1S ~ LE2S
2EM: UBIS
M NEH1s FUHH Jlgr2 st
Chol: FOIME SHUA S
= _ — d =
SA - BB B () - MM - BES e
UEIS 142,814 160,744
AlHI 8,643
T Hl 134,171
A¥1s FLMH Jlet st 123,910 141,570
AlHI 8,643
T Hl 115,267
QIHH 2ILHA st 123,910 141,570
AlHI 8,643
- Hl 115,267
QXX 2EEL 11,840 11,840
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OF2UXX&zE 3 =g
,000& x25H «12& »90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 92,920 92,920
301 L2 A= 92,920 92,920
05 SE -0 -tEEsE 92,920 92,920
Os&E=+% 200,000 x28H x12& 67,200
OsZdNH= 200,000& 28X x23| 11,200
Os&zo FA&+g 20,0009 x28H » 123 6,720
OB 43 25,0003 156 H »23| 7,800
BAMRA & e 15,430 14,280
201 £B-2dH| 14,830 14,280
02 =24l 14,830 14,280
OFAr2el 250
dstX EA 150,000 150
SY3 Fa 100,000& 100
OFAMEZ & H 2,352,000 2,352
OFA 2= | 1,258,000& 1,258
Ooxg |X 3,400,000 3,400
OFAL HIl& 5,900,000 5,900
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N = 0l & At & M A

20148 &= 204 LB3H WHIS ~ 2H2S

2M: WH2S
M NH2s FOMH Jlgr2 st
chol: FOIME SHUA S (sl &2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
UZ2s 140,357 136,718 3,639
AlHI 15,388
T Hl 124,969
AFH2s FLMH JlgtL st 122,763 118,584 4,179
AlHI 15,388
T Hl 107,375
FOHE 2EUHA S 122,763 118,584 4,179
AlHI 15,388
- Hl 107,375
QXX 2EEL 21,080 21,080 0
Al 15,388
T Hl 5,692
201 Let249] 10,880 10,880 0
Al 7,942
Tl 2,938
01 At 22l 10,880 10,880 0
OFCURXE T2 2AxE
20,0003 +323| x12& 7,680
AlHI 5,606
- Hl 2,074
OFQURXHAS 3IoA&AN &
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
301 L2 A F 10,200 10,200 0
AlHI 7,446
T Hl 2,754
11IIEtEA S 10,200 10,200 0
OBMHESEY NESAX &H24
10,0002 x853| x12& 10,200
AlHI 7,446
-l 2,754
s -8y 23 N 73,780 73,780 0
301 LEtE A= 73,780 73,780 0
05 SE -0 RS2 73,780 73,780 0
Os&E=+¢ 200,000 x22H «12& 52,800
Os&dN= 200,000& 22X x23| 8,800
Os&3o F4&x¢ 20,0003 x22H 12 5,280
OgtEE 43 25,0003 138K »23| 6,900
EAMNRA & e 23,063 16,634 6,429
201 Let249] 13,063 12,634 429
02 =224l 13,063 12,634 429




SN DH2S
M NH2s FOMH Jlgr2 st
Sl FOIME SYLHAE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O&E A2 560
dotx A 150,000& 150
Y43 A 110,000& 110
= - AR DN 300,000 300
Oxg |X 2,800,000& 2,800
OFEAL A=K 987,000& 987
OFA HIlz 6,336,000 6,336
OFA & -ot=Ek& 880,000 880
OFA RUER =2 1,440,000 1,440
OFAL SBHERES 60,000 60
401 AIEHI L 20HEI 5,000 4,000 1,000
01 A& tl 5,000 4,000 1,000
Os&EA 15 at&E4 SZd 5,000,000& 5,000
405 XHoHF S HI 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
Otialoya A Wi 5,000, 000 *1CH 5,000
DR 2 4,540 6,790 A2,250
201 et 3,790 3,790 0
01 At 22l 3,790 3,790 0
OYJKNA M= 500,000 500
Odold=Zed & 1,200, 000& 1,200
OdoldERH EY 850,000 850
O=A2l EYH 760,000 760
oA &Y 480,000& 480
405 Xt&tE SHI 750 3,000 A 2,250
01 AL EFHSHI 750 3,000 A2,250
OoA 2 MM WA 750,000 10K 750
=2 sgddy g3 N&E 300 300 0
301 et Az 300 300 0
1MIIEESS 300 300 0
OO0 syd g3 It 24 300,000 300
HY2FZH (WEH28) 17,594 18,134 A 540
Jl=&l 17,594 18,134 A 540
JlE&l 17,594 18,134 A 540
201 £B-2%H| 8,294 8,834 A 540
01 At 22l 5,094 5,634 A 540
ORM2E=EH 2,070,000 2,070
OJlegef+=d Sl 3,024,000 3,024
02 =24l 3,200 3,200 0
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201449 &

2N
X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - BAS %Ei HR=2
A 155,300 152,920 2,380
Al H] 20,019
T 135,281
1 H3=s FOIME DA S 137,196 134,816 2,380
Al H] 20,019
T 117,177
ME 29 LLHASH 137,196 134,816 2,380
Al H] 20,019
T 117,177
IR g 2EEX 27,420 22,040 5,380
Al H] 20,019
Tyl 7,401
201 et d| 16,200 15,440 760
AlH] 11,827
-yl 4,373
01 AF 22| H| 14,760 14,000 760
OFoUNXE T2 A+
20,000& #4453 x12& 10,560
Al H] 7,709
Tl 2,851
OFAUNXS A slolas 4o
10,000 25" % 123| *90% 2,700
Al H] 1,971
T 729
O=E2 H& 500,000 500
Al H] 365
24| 135
OXSTAS AIRES ¢ 1,000,000& 1,000
Al H] 730
T 270
02 324 H| 1,440 1,440 0
OS2 A2 25U AtE2 120,000& ~12& 1,440
Al HI 1,052
24| 388
301 et A= 11,220 6,600 4,620
Al HI 8,192
24l 3,028
11 J|EtE A2 11,220 6,600 4,620
OXST A2 X3S ALAH A HI 24 11,220
oz 20,000&! 2493 4,980
Al H] 3,636
24l 1,344
FUZ2F 60,000& *1043] 6,240
AlHI 4,556
Tyl 1,684
s - BtE g5 I 72,880 72,880 0




2AH: IS
3 WH3IS FUHHE JIgtH
Srol: FOIME 2YLHAs (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
301 gEtE A= 72,880 72,880 0
058 -0 -8t83E8s243 72,880 72,880 0
osg¥=¢g 200,000 x22H 123 52,800
Os&do=s 200,000& »22H »23| 8,800
Os¥a9 4=+ 20,000 x22H x123] 5,280
oetE=2d=s 25,000% x120E »23| 6,000
BAMNRX R A2 33,176 36,176 23,000
201 fet2E | 23,196 22,196 1,000
02 s3=9Hl 23,196 22,196 1,000
OFAb2tel 1,550
datx Fa 650,000 650
S83 Fa 300,000 300
Sl eI 8 600, 000& 600
oxtg !X 3,400,000& 3,400
OFAMN HHAHSIH] 1,786,000 1,786
OFA 2= RX 3,438,000& 3,438
OFAMN HII& 9,000, 000& 9,000
OFA 2EH =8 1,692,000& 1,692
OEM EZMNERES 130,000& 130
OFAN NS=2FE3 300,000 300
OEM & otk 2 900,000& 900
OLEANE RANES 1,000,000 1,000
307 212t0l & 1,980 1,980 0
05 22t & 3 1,980 1,980 0
O2+=E3tA4 &2 165,000& =123 1,980
405 At&tF S HI 8,000 2,000 6,000
01 &AL ESFH=H 8,000 2,000 6,000
OdtIl W 8,000,000 «1CH 8,000
gEEs =24 3,420 3,420 0
201 fEt2E | 3,420 3,420 0
01 AtR 2t 2l bl 3,420 3,420 0
OUAMA W= 540,000 540
OdolMEgH & 600,000 600
odiolM=eld &H 850,000 850
O=SAMIIEYH 950,000 950
OHAEYH 480,000 480
=0 segsd g5 X 300 300 0
301 YerE A 300 300 0
MIIEtEd = 300 300 0
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N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
SA: DF4S
M N EH4s FLUHH Jlgr2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
UTLAS 123,115 141,815 A 18,700
AlHI 8,643
T Hl 114,472
AEV4s F=LHH Jlet st 105,151 123,311 A 18,160
AlHI 8,643
T Hl 96,508
FOHE 2EUHA S 105,151 123,311 A 18,160
AlHI 8,643
- Hl 96,508
QXX 2EEL 11,840 14,000 22,160
Al 8,643
T Hl 3,197
201 Let249] 11,840 14,000 22,160
Al 8,643
Tl 3,197
01 At 22l 11,840 14,000 22,160
OFURXHAG T2 2AE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OF2XXz 3oa&Es =&
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 69,290 69,290 0
301 L2 A= 69,290 69,290 0
05 S& -0 -EtEEs2483 69,290 69,290 0
Os&E=+% 200,000& x21H «12& 50,400
OsZdNH= 200,000& 21X x23| 8,400
OsH3dgHg 20,0003 x21H x12& 5,040
OB 43 25,0003 *109H »23| 5,450
IART ¥z 20,301 36,301 16,000
201 £B-2dH| 15,301 14,301 1,000
02 =24l 15,301 14,301 1,000
OFAL 2e] 350
HotXE A 150,000 150
H HEDIIRX 200,000& 200
Ooxg |X 3,400,000& 3,400
OFAL HEAZH| 1,400,000& 1,400
OFEA A2KX 1,561,000& 1,561
OFAL HIl& 5,000,000 5,000
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==
= 0l & Al Nl
20148 = 20 A LBHSH 1) 2SS
2N E2ls
M gols FUMEH JgrY
Sl FOIMHS2Y LHA S CERED
- _ _ RE]
M- o9 (B H) - MEAY - BAS %Eﬁ HR=2
=g 179,736 ,932 AN 3,196
Al H] 8,643
T 171,093
= FOIAME DBt S} 156,970 ,202 N4, 232
Al H] 8,643
T 148,327
B2 LA S 156,970 ,202 N4, 232
Al H] 8,643
T 148,327
OIXIX g 28X 11,840 ,840 0
Al H] 8,643
Tyl 3,197
201 et d| 11,840 ,840 0
AlH] 8,643
-yl 3,197
01 AF 22| H| 11,840 ,840 0
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al H] 6,307
Tl 2,333
O IxeA =
,000& *25H *123] *90% 2,700
Al H] 1,971
T 729
OEEZ2 HZ 500,000& 500
Al HI 365
24| 135
HHA 23 X 120,190 117,050 3,140
301 ety A= 120,190 117,050 3,140
05 S& -0 -t EsEAZ 120,190 117,050 3,140
Os&dsd 200,000 x36H x12& 86,400
OsSHAMENH= 200,000 *36H *23| 14,400
Os&3 9o &4 20,000 x36H x12& 8,640
OstaE M= 25,000& #2152 *23| 10,750
HASX L X2 19,720 24,522 N4 ,802
201 gBt2Ay| 14,720 14,522 198
02 Z32%H| 14,720 14,522 198
O AL22] 700
HotxX HA 200,000 200
=83 A 200,000 200
S ueh) KX 300,000& 300
OxXg 81X 3,200,000& 3,200
OFA HE A S H| 1,200,000 1,200
OFAN 22 81X 1,231,000 1,231
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K- EH3 B (3H) - HSAY - Ba2 il HZS2

O&A dIl= ,000,000& 6,000
OFAN & o2 620,000& 620
OFAN ROULE 2 ,649,000& 1,649
OFAN BHIMAREE 120,000& 120

401 Al HI YL 2 0HHI 5,000 10,000 A5,000

01 A& HI 5,000 10,000 A5,000
OSHA 8ZA ,000,000& 5,000

AR 29 4,920 7,490 N2,570

201 et A | 4,240 4,240 0

01 AFR2t2l Yl 4,240 4,240 0
O MA H& 500,000 500
OdiolMEegly EH 600,000& 600
OdioldEZeld EY ,360,000& 1,360
O=AMIENH ,140,000& 1,140
OHAEYH 640,000& 640

405 XtabF SHI 680 3,250 N2,570

01 AL 2 S F SHI 680 3,250 N2,570
OAMYH 2 H 210,000& 210
OZ=Zely 470,000 470

ol tsgs 25 KA 300 300 0

301 dEtE A= 300 300 0

11 IIEtE A2 300 300 0
OZF0l sy s 300,000 300

HHSHAY (Hels) 22,766 21,730 1,036

&l 22,766 21,730 1,036

=&l 22,766 21,730 1,036

201 et A | 12,216 11,220 996

01 AFR22t2ldl 7,716 6,720 996
OfNM2g+EH| ,020,000& 4,020
OJlgges8 2| ,696,000& 3,696

02 =294l 4,500 4,500 0
OoO#s ,500,000& 4,500

203 R =&Y| 10,550 10,510 40

01 J|22I PR =&Y 7,110 7,110 0
OJa2dd2 =8| ,110,000& 7,110

02 ML RF=EY| 440 400 40
OFAINML D =AY 440,000 440

04 ENSIHRF=AY| 3,000 3,000 0
ORMNS2gIRF&Y| ,000,000& 3,000
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== A
N = 0] &F AF S & AN A
20148 & 20 A LEHSH V- 1S ~ dE2S
SA: BHEHS
MM GICH S F=QHAE Jlet2 S
CHol: FOIME SHUA S CEEEED
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
olE1sS 138,963 131,463 7,500
Al HI 8,643
T 130,320
otHH1s FOIME DJIBHASH 119,303 111,803 7,500
Al HI 8,643
T 110,660
FOIME 2HUWAS 119,303 111,803 7,500
Al HI 8,643
T 110,660
FOIXXE HEEX 11,840 11,840 0
Al HI 8,643
Tyl 3,197
201 et d| 11,840 11,840 0
Al Hl 8,643
-yl 3,197
01 AF 22| H| 11,840 11,840 0
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al HI 6,307
Tl 2,333
OFUNIALS sAFA Hg
10,000 25" % 123| *90% 2,700
Al HI 1,971
T 729
OEEZ2 HZ 500,000& 500
Al HI 365
24| 135
s - A 25 X 82,450 82,450 0
301 LEtE A= 82,450 82,450 0
05 S& -0 -t EsEAZ 82,450 82,450 0
Os&dsd 200,000 x25&H x12& 60,000
OsSHAMENH= 200,000 25 x23| 10,000
Os&3 9o &4 20,000 x25H x 12& 6,000
OstaE M= 25,000& * 129 x23| 6,450
HASX L X2 20,473 13,273 7,200
201 gBt2Ay| 13,473 13,273 200
02 Z32%H| 13,473 13,273 200
O AL22] 500
HotxX HA 100,000& 100
=83 A 100,000& 100
S ueh) KX 300,000& 300
OxXg 81X 3,200,000& 3,200
OFA HE A S H| 1,648,000 1,648
OFAN 22 81X 1,205,000 1,205
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2N
X ZH -
L= B

el

= _ — d =
K- ZE SR (3) - HRAY - BaS e 2
OFAL & 4,600,000 4,600
OFA & -ot==&2 500,000 500
OBMN RAYH 3 1,620,000& 1,620
OFAL SN RES 200,000 200
401 Al HIZ 201 I 7,000 0 7,000
01 A& HI 7,000 0 7,000
OBA 28 SM S HA 2BFY|
7,000,000 7,000
QAEs 24 4,240 ,940 300
201 Letd] 4,240 ,940 300
01 At 22l 4,240 ,940 300
OSIRMA M= 640,000! 640
OdoldEeH EE 600,000 600
OdioldEeH EU 1,220,000 1,220
O=AIEH 1,140,000& 1,140
OBAE 640,000 640
2 HEgY #2s N3 300 300 0
301 gt d= 300 300 0
1MIIEBESS 300 300 0
O=¢ Xesedd 83 I 24 300,000 300
HY2FZHI (otH1S) 19,660 ,660 0
2l 19,660 ,660 0
=24l 19,660 ,660 0
201 €2l 10,320 ,320 0
01 At 22l 6,720 , 720 0
ORM2E=EH 3,360,000& 3,360
OJlege+d Sl 3,360,000 3,360
02 =224l 3,600 ,600 0
OE S N=1 3,600,000& 3,600
203 YR =& 9,340 ,340 0
01 JI22E =4 5,940 ,940 0
OJ&22gg =4l 6,600, 000& *x90% 5,940
02 33t P2 = 400 400 0
OF RIS R =& 400,000& 400
04 FN2EHSZ=TH| 3,000 ,000 0
ORAN2EYE=AHI 3,000,000 3,000




N = 0l & At & M A

20148 &= 204 LB3H WHIS ~ 2H2S

2 A GHEt2
FEF2

Nz GFC | BF 2t 3}
el EOIME YA S CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
olH2s 188, 141 158,393 29,748
Al HI 18,453
T 169,688
otH2=s FOIME DJIBHASH 167,281 137,533 29,748
Al HI 18,453
T 148,828
FOIME 2HUWAS 167,281 137,533 29,748
Al HI 18,453
T 148,828
FOIXXE HEEX 25,280 18,100 7,180
Al HI 18,453
Tyl 6,827
201 et d| 13,840 11,840 2,000
Al Hl 10,103
-yl 3,737
01 AF 22| H| 13,840 11,840 2,000
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al HI 6,307
Tl 2,333
OFCXXPE 3o &S G
10,000 25" % 123| *90% 2,700
Al HI 1,971
T 729
OEEZ2 HZ 500,000& 500
Al H] 365
24| 135
O 29 £=2H| 2,000,000& 2,000
Al HI 1,460
T 540
301 et A= 11,440 6,260 5,180
Al HI 8,350
T4l 3,090
11 JIEtE A2 11,440 6,260 5,180
OX2AMS XSESALAF AHI 2 A 11,440
B 0p2t 20,0002 * 124 *52 %523 5,200
Al HI 3,796
Ty 1,404
S FH(LH,25)
20,0003 x2H »22 x52F 4,160
Al HI 3,036
T 1,124
s o2t 20,0003 x 1Y %2 %523 2,080
Al HI 1,518
ksl 562
S oz g2 1 98,250 98,250 0
301 LBt A= 98,250 98,250 0




2AM: otees
M otH2s FOHEH JlgH2 st
ol FOIME 2YLHAs (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
058 -0 -tH¥ESE43 98,250 98,250 0
osd=¢ 200,000& +30H 123 72,000
OszddNH= 200,000& *30H »23| 12,000
Os&3slo &+ 20,0003 +x30H ~12& 7,200
Og&EEAZ 25,0003 *141H x23| 7,050
EAMRA & XE2el 38,591 16,943 21,648
201 £B-2dH| 18,591 16,943 1,648
02 =224l 18,591 16,943 1,648
OF A2zl 645
dotx A 390,000 390
SY3 Fa 55,000 55
- e 7 X 200,000 200
oxg |X 3,400, 000& 3,400
OFAL HEAZH| 1,648,000 1,648
OFAL 3o &H] 682,000 682
OFEA 22 &X 1,829,000& 1,829
OFAL HIlg 7,726,000 7,726
OFA & -ot=&2 800,000 800
OFA RER =3 1,769,000& 1,769
OFA BI3MERES 92,000 92
401 Al HI L 2T 15,000 0 15,000
01 A& HI 15,000 0 15,000
OsEAH &= & QA HH 15,000, 000& 15,000
405 Xt&HE S| 5,000 0 5,000
01 AL EFH S 5,000 0 5,000
OelZ HHIH 2,000,000& 2,000
Ol HsUIIE &X 3,000,000& 3,000
AT 2y 4,860 3,940 920
201 et 3,940 3,940 0
01 At 22l 3,940 3,940 0
OYJKNA M= 540,000 540
OdoIMERIH & 600,000 600
OdoIdERH EUY 1,020,000& 1,020
O=AMIIEU 1,140,000 1,140
OHAEYH 640,000 640
405 TtHakH S| 920 0 920
01 AL EFH S 920 0 920
OZfZgd WA 470,000 470
O d& wil 450,000& 450
=0 gy g3 1A 300 300 0
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==
N = 0] &F AF S & AN A
20148 & 20 A LEHSH V- 1S ~ dE2S
SH MBS
MM NEIS FOHAEH Jlet2 3
Chol: FOIME SHUA S CEEEED
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
MBS 155,401 213,654 N 58,253
Al HI 8,643
T 146,758
MEIES FOME D23 136, 141 194,394 N 58,253
Al HI 8,643
T 127,498
FOIME 2HUWAS 136, 141 194,394 N 58,253
Al HI 8,643
T 127,498
FOIXXE HEEX 11,840 11,840 0
Al HI 8,643
Tyl 3,197
201 et d| 11,840 11,840 0
Al Hl 8,643
-yl 3,197
01 AF 22| H| 11,840 11,840 0
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al HI 6,307
Tl 2,333
OFUNIALS sAFA Hg
10,000 25" % 123| *90% 2,700
Al HI 1,971
T 729
OEEZ2 HZ 500,000& 500
Al HI 365
24| 135
s - A 25 X 105,830 105,830 0
301 LEtE A= 105,830 105,830 0
05 S& -0 -t EsEAZ 105,830 105,830 0
Os&dsd 200,000 x32H x12& 76,800
OsSHAMENH= 200,000 *32H x23| 12,800
Os&3 9o &4 20,000 x32H +x12& 7,680
OstaE M= 25,000& * 171 *23] 8,550
IART ¥z 14,021 71,534 A57,513
201 gBt2Ay| 14,021 13,599 422
02 Z32%H| 14,021 13,599 422
OFAL2E] 600
HotxX HA 200,000 200
=83 A 100,000& 100
S ueh) KX 300,000& 300
OxXg 81X 3,200,000& 3,200
OFA EHIMAH 708,000 708
OFAN 22 81X 1,252,000 1,252
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= o
N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
SH MBS
M ME2s FOHEH JIgH2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
MNE2S 136,115 142,015 25,900
AlHI 8,643
T Hl 127,472
AME2s FQIMEH JlgHL 5t 117,611 123,511 25,900
AlHI 8,643
T Hl 108,968
FOHE 2EUHA S 117,611 123,511 25,900
AlHI 8,643
- Hl 108,968
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 69,290 69,290 0
301 L2 A= 69,290 69,290 0
05 S& -0 -EtEEs2483 69,290 69,290 0
Os&E=+% 200,000& x21H «12& 50,400
OsZdNH= 200,000& 21X x23| 8,400
Os&zo FA&+g 20,000 x21H 122 5,040
OB 43 25,0003 *109H »23| 5,450
BAMRA & e 32,761 34,961 A 2,200
201 £B-2dH| 16,461 16,461 0
02 =24l 16,461 16,461 0
OFAr2el 500
=83 F& 200,000 200
H- eI | X 300,000& 300
Ooxg |X 3,400,000& 3,400
OFAL HEAZH| 1,500, 000& 1,500
OFA 22 &X 1,612,000& 1,612
OFAL HIl& 6,000,000 6,000
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== A
N = 0] &F AF S & AN A
20148 & 20 A LEHSH V- 1S ~ dE2S
SN BYIS
M mYis FOME Jlus
Chol: FOIME SHUA S CEEEED
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Zas 139,230 124,267 14,963
Al HI 10,044
T 129, 186
He1s FO0MEH DBt 120,456 105,493 14,963
Al HI 10,044
T 110,412
FOIME 2HUWAS 120,456 105,493 14,963
Al HI 10,044
T 110,412
FOIXXE HEEX 13,760 11,840 1,920
Al HI 10,044
Tyl 3,716
201 et d| 13,760 11,840 1,920
Al Hl 10,044
-yl 3,716
01 AF 22| H| 13,760 11,840 1,920
O XXz Z208 2AISE
20,000& #4453 x12& 10,560
Al HI 7,708
Tl 2,852
OFUNIALS sAFA Hg
10,000 25" % 123| *90% 2,700
Al HI 1,971
T 729
OEEZ2 HZ 500,000& 500
Al HI 365
24| 135
s - A 25 X 62,660 62,660 0
301 LEtE A= 62,660 62,660 0
05 S& -0 -t EsEAZ 62,660 62,660 0
Os&dsd 200,000 x19H x12& 45,600
OsSHAMENH= 200,000 192 x23| 7,600
Os&3 9o &4 20,000 199 x12& 4,560
OstaE M= 25,0002 x98%H x2 3| 4,900
HASX L X2 40,316 21,473 18,843
201 gBt2Ay| 13,806 12,333 1,473
02 Z32%H| 13,806 12,333 1,473
OFAL2E] 600
HotxX HA 200,000 200
=83 A 100,000& 100
S ueh) KX 300,000& 300
OxXg 81X 2,800,000& 2,800
OFAN 222 81 1,027,000 1,027
OFA &D|& 6,235,000& 6,235
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Off &t 24
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= o
A & 0l & AF 2 E A A
20149 = 20la LeH3H WFEIS ~ 2E2S
SN ZYes
M HE2s FLUMH Jlgr2 st
ol EOIME YA S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
28 200,694 203,095 22,401
AlHI 9,972
T Hl 190,722
dEos FUdy JlerdEt 178,258 180,329 A2,071
AlHI 9,972
T Hl 168,286
FOHE 2EUHA S 178,258 180,329 A2,071
AlHI 9,972
- Hl 168,286
QXX 2EEL 13,660 14,040 A 380
Al 9,972
T Hl 3,688
201 Let249] 13,660 14,040 A 380
Al 9,972
Tl 3,688
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFAUNXS A slolas 4o
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
oz M# 500,000 500
AlHI 365
1 Hl 135
02 2324l 1,820 2,200 A 380
OXMEH RANES> Y LS4
1,400, 000& 1,400
AlHl 1,022
I 378
OQHY AEZ 420,000 420
AlHI 307
T Hl 113
s g g3 N 114,710 114,710 0
301 LAz 114,710 114,710 0
058% -0 -tHESEHS 114,710 114,710 0
os&d=+¢ 200,000& x34H «12& 81,600
OsH&NH= 200,000& 34 *23| 13,600
Os&3lo & 20,0003 +x34H «x12& 8,160
Oostazg ez 25,000 227 H *23| 11,350
NS & XE2e 44,628 39,839 4,789
201 L2l 15,039 14,839 200
02 2324l 15,039 14,839 200
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SN BEYLS
H: HE2s FAUMHH JIBH2 G
ol FOIME 2YLHAs (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OF A2 500
=83 HA 200,000& 200
S e X 300,000 300
oxtg | 3,000,000& 3,000
O&FA LA ZH| 204,000 204
OFAMN A2 21X 1,771,000 1,771
OFA M2 6,834,000 6,834
OFA & - sl 2 650,000& 650
O&A RoYA =25 1,980,000 1,980
OFA BIMEREE S 100,000 100
401 Al HI YL =2 Tl 22,000 25,000 A3,000
01 A& HI 22,000 25,000 A 3,000
OSHA g4 2 siZa B4 S
22,000,000 22,000
405 XtabF S| 7,589 0 7,589
01 AL 2 ZF SHI 7,589 0 7,589
O3z ea 3o& Holg O Xt W Xl 4,389
3lolE Hol= 132, 000& =22 2,904
3lelg okt 33,000& 454 1,485
OFlolal Hutgty W 3,200, 000& = 1CH 3,200
oA 29 4,960 11,440 N6,480
201 LBt b 4,240 4,240 0
01 AFR22t2l Yl 4,240 4,240 0
Ol MA H& 500,000 500
OdiolMEZegly EH 600,000& 600
OdioldEZgH EY 1,360,000& 1,360
O=AMIENH 1,140,000 1,140
OHAEYH 640,000& 640
405 XtabF SHI 720 7,200 N6,480
01 AL 2B F SHI 720 7,200 AN6,480
OSMMEDI WA 720,000& 720
F0 s 25 XA 300 300 0
301 YprE A3 300 300 0
1M IIEtE &2 300 300 0
O=F0 sty &5 FXb 2 A 300,000& 300
HESHAH (HE2S) 22,436 22,766 A 330
Jl =23t 22,436 22,766 A 330
DR sl 22,436 22,766 A 330
201 LEr2 9| 11,886 12,216 A 330
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= o
N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
2AM: s
M Oi1s FUAH g2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Cti1s 247,758 243,964 3,794
AlHI 11,504
T Hl 236,254
Cli1s =2dgy Jlgr2st 216,936 214,208 2,728
AlHI 11,504
T Hl 205,432
FOHE 2EUHA S 216,936 214,208 2,728
AlHI 11,504
- Hl 205,432
QXX 2EEL 15,760 16,000 A 240
Al 11,504
T Hl 4,256
201 Let249] 14,260 14,500 A 240
Al 10,409
Tl 3,851
01 At 22l 14,260 14,500 A 240
OFCURXE T2 2AxE
20,0003 *443| x12& 10,560
AlHI 7,708
- Hl 2,852
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 1,000, 000& 1,000
AlHI 730
1 Hl 270
301 L2 A F 1,500 1,500 0
AlHI 1,095
T Hl 405
09 HALAHIEA S 1,500 1,500 0
Og=¢l g=23 MEA 500,000& *33| 1,500
Al 1,095
- Hl 405
s -8 g3 J& 174,680 175,030 A 350
301 et A3z 174,680 175,030 A 350
05 8% -0 -tHESEHS 174,680 175,030 A 350
Oos&d=¢ 200,000& x52H x12& 124,800
OsHaNH= 200,000& *52H x23| 20,800
Os&3lo & 20,0003 x52H «x12& 12,480
Oostazg ez 25,0003 *332H x23| 16,600
EAMSA & e 20,086 16,318 3,768
201 LBH2I | 14,586 14,318 268
02 =224l 14,586 14,318 268
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el

CHH 1S
L OHHIS EQIME
FOIME SYHAS

R
+

()

t

[1e]]

- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i 2t

O&E AL 300
Hex A 150,000& 150
283 HA 150,000& 150
OoOxXg 81X 3,400,000& 3,400
OFAN 222 81X 1,290,000 1,290
OFA &D|& 6,960,000& 6,960
OFAMN & -dlxE2 950,000 950
OFA ROUYA =3 1,611,000 1,611
OFA SEMEEE 2 75,000 75

401 AlEHIZL 2 0HY| 5,500 2,000 3,500

01 Al&H| 5,500 2,000 3,500
OSEA 28 Hi+=3 At 3,000,000 3,000
OY XS &A B4 2,500,000& 2,500

DR 29 6,110 6,560 AN450

201 Bt 6,110 6,110 0

01 AP 22| H| 6,110 6,110 0
Ool& AA X2 540,000 540
OdioldEzyH 24 1,200,000 1,200
OdolHEEH EY 1,700,000 1,700
O=SAIIEYH 1,710,000& 1,710
OBAEH 960,000 960

=0 sty 25 N3 300 300 0

301 LBt A= 300 300 0

11 JIEtE2 A= 300 300 0
OFo sty g5 300,000& 300

HAE2AAH (CHH1s) 30,822 29,756 1,066

Jleddl 30,822 29,756 1,066

Jl2 &4l 30,822 29,756 1,066

201 LBt 18,832 17,806 1,026

01 AP 22| H| 12,332 11,306 1,026
OBMdsdg 2| 6,620,000 6,620
OJI2gas Z k| 5,712,000& 5,712

02 2=2=24%H| 6,500 6,500 0
ogEs 6,500,000& 6,500

203 E R F=&d| 11,990 11,950 40

01 J| 2 2H L RE=XH| 7,110 7,110 0
OJ|22g9 =8| 7,110,000& 7,110

02 AAADJALAH 2 =R Y| 680 640 40
OFJIAtE 2=&8H| 680,000 680
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= o
N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
2AM: Cti2s
M Oi2s FUHH Jlgr2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Ctii2s 202,765 205,279 A2,514
AlHI 11,096
T Hl 191,669
Cizs =2dgy Jlgr&2st 177,981 181,231 A 3,250
AlHI 11,096
T Hl 166,885
FOHE 2EUHA S 177,981 181,231 A 3,250
AlHI 11,096
- Hl 166,885
QXX 2EEL 15,200 15,440 A 240
Al 11,096
T Hl 4,104
201 Let249] 15,200 15,440 A 240
Al 11,096
Tl 4,104
01 At 22l 13,760 14,000 A 240
OFCURXE T2 2AxE
20,0003 *443| x12& 10,560
AlHI 7,708
- Hl 2,852
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
02 2324l 1,440 1,440 0
OX2EN2 2AHY AtE= 120,000 128 1,440
AlHI 1,052
T Hl 388
s g g3 N 123,390 116,460 6,930
301 et A3z 123,390 116,460 6,930
058 -0 -tEESEHS 123,390 116,460 6,930
Os&=+¢ 200,000& x36H x12& 86,400
OsE&NH= 200,000 36 *23| 14,400
Os&3lo & 20,0003 36"+ 123 8,640
Ou&EEBAZ 25,0003 *279H x23| 13,950
EAMSA & e 34,851 41,671 26,820
201 L2l 21,971 21,771 200
02 2324l 21,971 21,771 200
OF MR 700
dotx HEA 200,000 200
=83 F& 200,000 200
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2AM: Cti2s
M Oi2s FUHH Jlgr2 st
ol FOIME 2YLAs (S &2)
= _ — d =
SA - BB B () - MM - BES Ol &t o e HmEET
S = P N 300,000 300
oxg |X 3,000,000& 3,000
O&EAMN Ad= X 2,152,000 2,152
OFAL &Iz 11,770,000 11,770
OFA & -dt=&2 1,000,000 1,000
OBA RUAYE 242 (HA H2TAHH)
3,000,000& 3,000
O&EAN SZNERE = 99,000 99
OFEAN NERLRES 250,000 250
401 Al HIZ 201 8] 12,880 18,000 25,120
01 A& HI 12,880 18,000 25,120
Os&EA &g =288 4 12,880,000 12,880
QAR 2F 4,240 7,360 23,120
201 Let24d] 4,240 4,360 A 120
01 At 2teltl 4,240 4,360 A120
OQJMNA M= 500,000& 500
OdiolMZgH &8 900,000& 900
OdoIMESEH EY 1,020,000& 1,020
O=AMIIEH 1,020, 000& 1,020
OWAEH 800,000 800
o sgd s 2 300 300 0
301 et A= 300 300 0
1MIIEESS 300 300 0
o8 sy &8s & 24 300,000 300
HY2F AL (CUH2S) 24,784 24,048 736
Jl= &l 24,784 24,048 736
Jl=dl 24,784 24,048 736
201 Let24d] 15,284 14,588 696
01 At 22/l 10,284 9,588 696
ORNME2E+=EHl 5,580,000& 5,580
OJIg2ge==d &l 4,704,000 4,704
02 =24l 5,000 5,000 0
OF S ¥=1 5,000,000 5,000
203 YR =&t 9,500 9,460 40
01 122 =4 5,940 5,940 0
OJI22g g =a| 6,600, 000& x90% 5,940
02 et =AY 560 520 40
OIS R =& 560,000 560
04 RN2ELRZTH| 3,000 3,000 0




2N

Ctth2s

HH: #HSAP (CHH2S)
¢l =gl (chel & 9l)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-/

3,000,000&

3,000
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= o
A & 0l & AF 2 E A A
20149 = 20la LeH3H WFEIS ~ 2E2S
SN RES
Hu: DBS FUME OB
Sl FOIME SYLHAE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TES 80,981 94,231 A 13,250
AlHI 9,957
T Hl 71,024
“8s FLHH Jlet st 64,963 78,213 A 13,250
AlHI 9,957
T Hl 55,006
FOHE 2EUHA S 64,963 78,213 A 13,250
AlHI 9,957
- Hl 55,006
QXX 2EEL 13,640 12,680 960
Al 9,957
T Hl 3,683
201 Let249] 13,640 12,680 960
Al 9,957
Tl 3,683
01 At 22l 11,840 10,880 960
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFAUNXS A slolas 4o
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
oz M# 500,000 500
AlHI 365
1 Hl 135
02 2324l 1,800 1,800 0
OXMEH RANES> Y LS4
1,000, 000& 1,000
AlHI 730
I 270
OQHY AEZ 800,000 800
AlHI 584
T Hl 216
s g g3 N 34,700 31,260 3,440
301 LAz 34,700 31,260 3,440
058% -0 -tHESEHS 34,700 31,260 3,440
os&d=+¢ 200,000& x10H «12& 24,000
OsH&NH= 200,000 »102 *23| 4,000
Os&3lo & 20,0003 x10H ~12& 2,400
Ou&EE A3 25,0003 *86 Y 23] 4,300
NS & XE2e 12,473 30,273 A 17,800
201 L2l 12,473 12,273 200
02 2324l 12,473 12,273 200
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2N RES
Ha: ¥H2AAH (L S)
9l Il

SA-3H-S(3AH) - MRAS - BES Off &t 24

OFNMEgYRFAY 3,000,000& 3,000
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> A
N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
2N 2EIS
M AE1s FUHH Jlgr2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
2H1s 179,383 193,640 A 14,257
AlHI 8,643
T Hl 170,740
Zd1s FLMEH Jlgt st 158,317 173,580 A 15,263
AlHI 8,643
T Hl 149,674
FOHE 2EUHA S 158,317 173,580 A 15,263
AlHI 8,643
- Hl 149,674
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFQNXISIAE SIO&A 45
10,0003 259 123 *90% 2,700
AlHI 1,971
24| 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 104,190 104,190 0
301 L2 A= 104,190 104,190 0
05 S& -0 -EtEEs2483 104,190 104,190 0
Os&E=+% 200,000& x31H «12& 74,400
OsZdNH= 200,000& *31H »23| 12,400
Os&zo FA&+g 20,0009 *31 x123| 7,440
OB 43 25,0003 *199H »23| 9,950
BAMRA & e 31,210 44,510 A 13,300
201 Lt 2| 15,410 15,510 £ 100
02 =24l 15,410 15,510 A 100
O& At 2el 1,390
dstX EA 110,000 110
SY3 Fa 60,000& 60
O - PR N 100,000& 100
ERE=Ep) Fals]| 1,120,000& 1,120
Ooxg |X 3,400,000 3,400
OFEAL 2= ®AX 1,537,000& 1,537
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SA: 2HIS
M AHIS FOME J|Er2s
Chel: FOIME 2% UA 3 EER-ED
N33 .2 (3H) - HEAMY - BES O] Ak %Ei Hns2
OFEA ®JI2 6,420,000 6.420
OHA & - slac2 700,000 700
OFA 2GR 242 1,743,000 1,743
OHA SBAWARS2 220,000 220
401 AlEHI 2 2 0hHI 15,800 29,000 A 13,200
01 Al&H 15,800 29,000 A 13,200
OHA A% (S4) 24 L ©F  11,000,0008 11,000
OFQUXA T2ads o L b=l
4,800,000 4,800
olanl 2y 10,777 12,740 1,963
201 Lete | 3,940 3,940 0
01 A2 22!l 3,940 3,940 0
oIl A AL T = 5400002 540
OHOIMTRIE =& 600,000 600
OHOINTRIE EU 1,020,000 1,020
O=AIIEY 1,140,000 1,140
OmAE 640,000 640
405 K&k S| 6.837 8,800 1,963
01 HALSES S| 6.837 8,800 1,963
Oolal Wbt | 6,000,000 *1CH 6,000
OMA(MBE) L oK 537,0002 *1TH 537
OCIXIE3tma DA 300,0002 *1TH 300
Fol s 2 X 300 300 0
301 LEHE A 300 300 0
11 JIEHE & 2 300 300 0
OF0 [SYH S A 24 300,0008 300
HHS A A (ZHIS) 21,066 20,060 1,006
DR 21,066 20,080 1,006
22| 21,066 20,060 1,006
201 2 Bt2 3 H| 11,686 10,720 966
01 A2 22| 7.686 6,720 966
OR A2 3,990,000 3,990
OJl=Ras S| 3,696,000 3,696
02 2ZegH| 4,000 4,000 0
osEz 4,000,000 4,000
203 2 EFH| 9,380 9,340 40
B EEEEEE ST 5,940 5,940 0
OJlzeddREAY| 6.600, 0002 *90% 5,940
02 MM REAY| 440 400 40
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= o
N & o & AF & H A A
20148 & 204 LESIH WB1S ~ LE2S
SN 2E2s
HE: AH2E FOME Il s
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Z2E2S 111,440 126,328 A 14,888
AlHI 8,702
T Hl 102,738
228 FLIMH JlgHA 5t 94,206 109,510 A 15,304
AlHI 8,702
T Hl 85,504
FOHE 2EUHA S 94,206 109,510 A 15,304
AlHI 8,702
- Hl 85,504
QXX 2EEL 11,920 11,920 0
Al 8,702
T Hl 3,218
201 Let249] 11,920 11,920 0
Al 8,702
Tl 3,218
01 At 22l 10,880 10,880 0
OFCURXE T2 2AxE
20,0003 +323| x12& 7,680
AlHI 5,606
- Hl 2,074
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000& 500
AlHI 365
1 Hl 135
02 2324l 1,040 1,040 0
OFMEY |SNE4 U e
1,040,000& 1,040
AlHI 760
I 280
=By 23 N 60,020 60,020 0
301 L2 A= 60,020 60,020 0
05 & -0%-EtEE2ES243 60,020 60,020 0
osd=¢ 200,000& x18H x 123 43,200
OsZdNH= 200,000& »18H »23| 7,200
Os&3o 44 20,000 18 =123 4,320
OgtEE 43 25,0003 x106H »23| 5,300
FAMRA & e 13,920 32,020 A 18,100
201 Let49] 13,920 14,020 A 100
02 =24l 13,920 14,020 A 100
O&E At 2el 1,200
dotx A 110,000 110
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